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Mohit.. 16 hows ago 1 subscribars
Thank-you Sir,

4 -J-C-E

3 =F-1-A.

ZB-G-L_

Read more
i GF REFLY =
-~ 1 REPLY

Mohit.. 17 hows ago 1 subscribars

Thank-you Sir for this very Amazing Class Session of today.. . .

5
And

Today's homewark is done

—
Read more

i GF REFLY =
* 1 REPLY

Twinkir Gupta 3 hours ago

Done sir. wonderful session and best mentor or reasoning..

Thank you sir.

Reasoning k liyve aap pr hi depend h sir.
Thank you sir Jl,

4 §F  REPLY =

= 1 REPLY

Madeem 1& houwrs aga
(o) Today's Homework
O Puzzle - Done

¥ Session was Good Sirlss . W
i P FHER LY -
- 1 REPLY

v

Hiharika Jha 17 howurs 2oo

Thank you for the ses55I0N0 SIr .-
Puzzles or v zada karwa dijiye =ir
Homewaork done

T P FHEP LY =
-~ 1 REPLY

Sawrhi Simha 10 bowurs 2go

Done SIR & amazing sessiom sir
% &R R
= 1 REPLY

LY =

Sawbhi Simglh 13 hours 2go
Home wwork quesison
Done sir

e REFLY =
-~ 1 REPLY

.-'-'lIig!.IEl GEll'lg 2 howurs ago £ subscribsrs
Thank you sir . _.

Homewark done sir

tim or RHEF LY =

- 1 REFPLY

Simran Chauban 3 hows ago 1 subscor

Homewark answer is

F1.F2. F3
4. 0. £ E
I F L. A

Fead mors



Surbhi Sinha 10 hours age
1=kdh_._. 2bgL...3 FlA. . 4 JCE
1 GF REPLY =

~ 1 REPLY

ESRASHMI SOMIED & howrs ago 31 subsoribars
DONE......

4 A1 F
3. C. B
2. DL K.

Read more
1y &P SERLY =
+ 1 REFLY
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Monila Ewmnari 16 howrs aga 1 subscrbaer
Flat/floor 1 2 3

4 JCE

3. Fla

2. BGL.

Read more
& 5 REFLY =
= 1 REFLY

shikha katiyar 15 howurs ago
Home work

4- J-C- A

3- F-I1-E

2- B-G-L.

s Done

Read more iy &7 REPLY

= 1REPLY
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ir

™ §F R
= 1 REFPLY

Monika Euwmari 1€ hours aga

-

& 0 0 @

Done
i &R REFLY =
-~ 1 REPLY

Thee Shield Z howrs aga 14 subscribars

Sir guestion pura ban gaya but line no. Jyada select kar liye thy

#And supert sess0N0 Si0
o &F RHEFLY -
-~ 1 REPLY

Fiya Mandaokar 2 hours 2gc

Puzzle done

44 o FHEFLY =

- 1 REPLY

Kajal Singhal 7 hours ago = subacribars

Sir bhut confusing que h & 23 85 25 &
5 1 5P
= 1 REPLY

REPLY —=-

Shivani Jaiswal 12 hours ago

Done
ay LF SHERLY =
+ 1 REPLY

Shefali Thalwr 10 hours ago 4 sutecrisars
AMSWER:

m
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Fead more
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Floor with flat Based Puzzle

Box based Puzzle

Year Based Puzzle

Month / Day based Puzzle

Box based Puzzle with Variable
Floor based Puzzle with variable

2 variable based Puzzle



Twelve persons A, B,C, D, E, F, G, H, I, J, K, L lives in
different flats of different floors. There are four floors in a
building as ground floor is numbered as 1 and above it is 2 and
so on upto top floor numbered as 4. Each of the floor consist of
3 flats as flat-1, flat-2 and flat-3. Flat-1 of floor-2 is
immediately above flat-1 of floor-1 and immediately below flat-
1 of floor-3 and so on. In the same way flat-2 of floor-2 is
immediately above flat-2 of floor-1 and immediately below flat-
2 of floor-3 and so on. Flat-2 is in east of flat-1 and flat-3 is in
east of flat-2.

Two persons live between J and K. J lives above K but both are
living in the same flat number. A is to the east of I but none of
them lives on same flat and same floor number on which J and
K live. No one lives in the west of J. Only one person lives
between C and G who lives below C. L lives to the east of G. F
lives immediately above B and in the same flat number. D is to
the west of H. L lives below E and H does not live on the top
floor. E does not live in flat-2. C and G lives in the same flat

number.

TNE AT AU : A, B,C, D, E, F, G, H, I, J, K, L 37T
ST AT oh AT AT FAE U T34 21 Teh TARA H IR det
T, aay feret qot ohY TEAT 1, 399 SHUTHT 2 3R AT 3T
AYE | YW T Shi HEAT 4 Bl Teeh G061 WX 3 Fele § oTid :
TeAe-1, TAe-2 3T TeAe-3| -2 &l Feie-1, ae1-1 o Fee-2
o STk FU T TR qcT-3 h TFele-1 ok Sieh A1<r & 3T AT 3HT
TE Y| THT diich | dcA-2 T Fele-2, -1 < FeAe-2 <k 31k
FUT B IR qA-3 % FAe-2 % Steh 1 7 3R 30 g6t o A
FeAe-2, Tere-1 o Ud | B 3R Wete-3, Fele-2 & Id U B

J 3R K o &e W &1 41wk &d 8l J, K o 393 T § oifchd
T FHH Feie TCATH Ed 81 A, [ 6 Ja § g wifehT S0 &
I ot Tk TUT T 3T AHTT Tt HEAT W T @ar @
REWIINRKEIZIweft JFalm a T war 2l C
3R G, ST C o I<r @At &, & el HeT Ueh ST 1<k @t 2l L,
G o I H TEaT 21 F, B & 3ieh SUR TEaT § 3R 90T Fete
TEITHEATEI D, HR UM A 3 L, E & e @ar g it H
IS Tt W) T2 @At 81 E, TAe-2 § 721 @ar 21 C 3R G

T A H&AT | & 2



Twelve persons A, B,C, D, E, F, G, H, I, J, K, L lives in different flats of
different floors. There are four floors in a building as ground floor is
numbered as 1 and above it is 2 and so on upto top floor numbered as 4.
Each of the floor consist of 3 flats as flat-1, flat-2 and flat-3. Flat-1 of floor-2
is immediately above flat-1 of floor-1 and immediately below flat-1 of floor-3
and so on. In the same way flat-2 of floor-2 is immediately above flat-2 of
floor-1 and immediately below flat-2 of floor-3 and so on. Flat-2 is in east of
flat-1 and flat-3 is in east of flat-2.

Two persons live between J and K. J lives above
K but both are living in the same flat number. A
is to the east of I but none of them lives on same
flat and same floor number on which J and K
live. No one lives in the west of J. Only one person
lives between C and G who lives below C. L lives
to the east of G. F lives immediately above B and
in the same flat number. D is to the west of H. L
lives below E and H does not live on the top floor.
E does not live in flat-2. C and G lives in the same

flat number.




9 boxes are placed in a 3*3 matrix formation as there are 3 rows and 3 columns. All of them
are placed from bottom to top. Box T is placed southwest of box C but north of box E. Box B
is north of Box L, but east of box O. Box B is placed in one of the rows below S. Box U is
southwest of box S but not south east of box K.

9 ST 3 * 3 NfEarT o e W T AT & aifeh 3 TRl 311X 3 ShicTH i & 39 A+t Y Frer & w
T TET TAT 2| ST T Rl dTeRT C % STUT-OTST § TE&T 74T 8, SifehT a1 E o I T e R
Box B, STe L o ST H ¥, T Tehd d1ad O o TS HI SAToT B ST S 7ol <Y UTeal ¥ & Teh § 1@
AT €1 Box U, STeRT S o STRIUI-UTHW | &, Cifoh a1erd K o ST8T0T Ud H 781 &

Q- Who is the north of T ?
1. S

pA
3.
4

a & Rx




Nine persons are living in a building on 9t =<k Ueh SHRA <hl AT [T ATt TR 30
different floors, in such a way ground floor YR Ed & T Waﬁ‘m 1 3N

is numbered as 1 and top floor is numbered HfJeT <ht HEAT 9 B E, HINTT G&AT 5 & FHUT
as 9. E lives on an odd number floor above wﬁwmmﬁﬁﬁﬁﬁmw%l E 3T}
the floor number 5. There are two persons G & W& af 1<k &d 2l B faww dear vivrer
live between E and G. B lives on odd TR TZT B AlhT G o 3ok HUX 3R 31k
number floor but not immediate above and T8 T 21 G 31X F & AT R™a-T d&T o
immediate below G. There are as many STk @d & SaT el GEIT U <6 G SIRK &
persons live between G and F as live e @A 2l F, G &% A @ar gl H el W
between G and K. F lives below G. H live on IgdaT 2| C 3TR E o A& Shd T Uk A<k &l
ground floor. There is one person lives %l D Wmmﬁnﬁﬁmqﬁw%l A

between C and E. D does not live on an even IHI HiSTeT § 33U Ueh TR HEAT ATeAT HISTA
number floor. A lives on even numbered O3 T&dT 2l

floor but above on 2nd floor.



Nine persons are living in a building on 9 different floors, in such a

way ground floor is numbered as 1 and top floor is numbered as 9. E
lives on an odd number floor above the
floor number 5. There are two persons live
between E and G. B lives on odd number
floor but not immediate above and
immediate below G. There are as many
persons live between G and F as live
between G and K. F lives below G. H live on
ground floor. There is one person lives
between C and E. D does not live on an even
number floor. A lives on even numbered

floor but above on 2nd floor.




There are eight people A, B, C, D, E, F, G and
H. They all were born on different years viz
1947, 1953, 1958, 1967, 1974, 1982, 1994 and
2002 but not necessarily in same order. But
the date and month of birth of all these
persons are same. Calculation is done with
respect to the year 2017 and assuming months
and date to be same. The difference between
the age of A and C is perfect cube. D’s age is
multiple of S but D is not the oldest person.
The difference of age between D and A is
equal to age of D. Age of F is equal to the
difference between the age of D and G. B is
second youngest among all of them. Difference

of age between B and H is perfect square.

IS ENT A, B, C, D, E, F, G, H3 9@t
ACT-3TERT a9t H 1947, 1953, 1958, 1967,
1974, 1982, 1994 371X 2002 H 43T 3T &

[CTTeR STET 21 foh ST hA | 8| TiTeh 3
At ST TRIT o ST shl ARG AT HEHT Ueh
2 2 MOTET W 2017 F Teter | kY AT & 3R
ATATIHA A R AEET THE BTN A AR
C <Y 1Tg o ofter ot Sta quf o= 31 D <t
AT 5 o TUTS | g, Afchd D TaH T ATk
TEi Bl D 37 A o s Y o117 T 3t D 6
T o SR 21 F Y g D 3R G h i
T % S 51 B 37 A1 H T80 T4 BieT
21 B 37 H o sfter <Y 31 < e qut o 2



There are eight people A, B, C, D, E, F, G and H. They all
were born on different years viz 1947, 1953, 1958, 1967,
1974, 1982, 1994 and 2002 but not necessarily in same
order. But the date and month of birth of all these persons

are same. Calculation is done with respect to the year 2017

and assuming months and date to be same. The
difference between the age of A and C is
perfect cube. D’s age is multiple of S but D is
not the oldest person. The difference of age
between D and A is equal to age of D. Age of F
is equal to the difference between the age of D
and G. B is second youngest among all of
them. Difference of age between B and H is

perfect square.




Ten students namely ABCD EF GHIJ of ten
different college but not necessary in the same order
have exam of five different days starting from
Monday to Friday of the same week .Each student
have an exam of the two different time slot 8:00 a.m.
for 11:00 a.m. .Only two person sit between F and J. 1
have an exam on Tuesday at 8:00am. H have an exam
at 8:00 a.m.. the number of person who have exam
between G and D is same the number of the person
who have exam between C and H. F does not have
exam on any of the day after H. B have an exam
immediately before I. I does not have exam on any of
the day before G. The one who have exam at 8:00 a.m.
immediate before J. D have exam immediate after the
day of the one who exam Monday . F does not have

exam at 11 a.m. Only three person have exam between
G and E.

T BTAT o T AT-3TAT hieist s ABCDEFGHILJ,
AR SET ShA H TELT T R Ti=r SR T-37eATT ot sht
TR Ueh ¥ TS o SIHAR § AR e 16 2
Tk BT oh UTH STA-TTT THT TATE 8:00 T AT
11:00 ST <A THT 81 F 3T J o o=l W SheleT &1 oA f<h
TeTT 3 ¥l 1 TR Y gaE 8:00 ST Ush UHET 3t
¢ | Hh gag 8:00 It TRIeAT Bt 21 G 3R D & s
TRIeAT 3 Tt <ht HEAT C 3R H o sier qie o are
g {xh chl GE&AT 2| F, H o 918 ITet fordt ot fom wdter
& AT 2 | B,I & TUA U8t AT feA Ghem Sar 2 1 L, G
o UEET aTel Tohet Y T arett T8 aar © | Rreeht
TS FTE 8:00 T Belt g TE J oh LA Uged TreT e
T | FTHAR ol U1 o Tt o o Qi@ g D e
JATE | F T g8 11 T Tleim 81 g1t 8| halet i
=t G 3R E & sfter adrear 3 3



Ten students namely A BC D E F G H1 J of ten different college but
not necessary in the same order have exam of five different days

starting from Monday to Friday of the same week .Each student have

an exam of the two different time slot 8:00 a.m. for 11:00 a.m. .Only
two person sit between F and J. Neither E and G does
exam on Friday . I have an exam on Tuesday at
8:00am. H have an exam at 8:00 a.m.. the number of
person who have exam between G and D is same the
number of the person who have exam between C and
H. D does not have exam on any one of the day after
E. F does not have exam on any of the day after H. B
have an exam immediately before 1. I does not have
exam on any of the day before G. The one who have
exam at 8:00 a.m. immediate before J. D have exam
immediate after the day of the one who exam Monday
. F does not have exam at 11 a.m. Only three person

have exam between G and E.




Eight boxes G, H, F, E, D, C, B and A are arrange
in top to bottom. Each box have different colour
Red, Yellow, Green, Pink, Violet, White, Black
and Blue, but not necessary in the same order.
Only one box kept between G and F. Both Violet
and Yellow box kept below to C. Only two box
kept between E and Black. The colour of box B is
not Black. The colour of box G is Green and the
colour of box D is Pink. Only four box kept
between G and H. The colour of box F is Blue. As
many boxes between H and B as between H and
D. B kept at one of the position above to D. A
kept immediately below to White. Only two box
kept between Violet and Yellow.

AT G, H,F,E, D, C, B3ARAFTWI A=
AU Tl Tedeh AT | SATT-3TeT T T,
T, 2T, TTeATelt, ST, e, ShTelt 3R et 2,
AR Ueh &Y ShA W 31Tk A21 81 G 3R F & &=
HA Ueh ST TET 7T 2| ST 3T Uit &1 <k St
STeRT C oh el T U | E 3T hiet T7 ok s
HA a1 FTFT T T | fE=aT B T T hTeAT T2 2
fesa G w1 o1 ET § 3R fesan D FwT ATt ¥ G
3R H o =1 ST o fesa @ M0 3| fe=ar F v
T AT HIRBF AT A fesa E ™iaa H
3R D o & €1 B &1 D o 370X Tkt Teh €T WX
TET 7T 21 A hl The ok ek A<l TET T 21 ST
3R UreY {7 o e sharet <1 fesar W MU §)



Eight boxes G, H, F, E, D, C, B and A are arrange
in top to bottom. Each box have different colour
Red, Yellow, Green, Pink, Violet, White, Black
and Blue, but not necessary in the same order.
Only one box kept between G and F. Both Violet
and Yellow box kept below to C. Only two box
kept between E and Black. The colour of box B is
not Black. The colour of box G is Green and the
colour of box D is Pink. Only four box kept
between G and H. The colour of box F is Blue. As
many boxes between H and B as between H and
D. B kept at one of the position above to D. A
kept immediately below to White. Only two box
kept between Violet and Yellow.




